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CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. (a) Write the IUPAC names of any two of the 

following : 	 1x2 

(i) H2C = CHCH2COOH 

(ii) H3C — CH — CH2  — C — C2H5  

OH 	0 

OH 
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(b) Assign R or S configuration to any one of the 
following : 

NH2  

(i) H 

  

OH 

  

    

CH3  

COOH 

(ii) HO 

  

Cl 

  

    

H 

(c) Assign E or Z configuration to any one of the 
following : 

	

HO N 	/C1 
(i) C = C 

	

H2N V 	\ CH3 

(ii) 

 

HOCH Cl HON 	2 
C = C 

H3CO" N  COOH 

(d) Write the structure of 
3,4-dimethylpentan-2-one. 
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2. Attempt any five from the following : 	5x2=10 

(a) Justify Hiickel's rule by applying it to 
naphthalene molecule. 

(b) Nitro group in nitrobenzene is meta 
directing in electrophilic substitution. 
Explain. 

(c) Chloroethanoic acid is a stronger acid than 
ethanoic acid. Why ? 

(d) Give equation of Cannizzaro reaction and 
name the products. 

(e) Give steps of conversion of benzene 
sulphonic acid into phenol. 

(0 Discuss Henry reaction. 

(g) Discuss mutarotation of D-glucose giving 
appropriate structures. 

3. Attempt any five parts from the following : 5x3=15 

(a) Taking suitable example, explain haloform 
reaction. 

(b) How can propene be converted to glycerol 
(1,2,3-propane-triol) ? 

(c) Write the major and minor products when 
2-bromopentane is treated with alcoholic 
KOH. Explain the rule which governs the 
formation of these products. 
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(d) Explain, why aniline is less basic than 

ethanamine. 

(e) Explain the following terms in respect of fats 

and oils : 

(i) Acid value 

(ii) Saponification value 

(iii) Iodine value 

(f) Vinyl chloride is less reactive than ethyl 

chloride towards nucleophilic substitution 

reactions. Explain. 

(g) Write the most stable and the least stable 

conformations of cyclohexane and explain 

their relative stabilities. 

4. Attempt any five parts from the following : 	5x4=20 

(a) Fill in the blanks : 

(i) Branching of hydrocarbon chain 

	 octane number. 

(ii) A nucleoside contains 	 and 

(iii) The sodium salts of higher fatty acids 

are called 	 

(iv) TMS is used in 	spectroscopy. 

CHE-05 	 4 



(b) Write explanatory notes on any two of the 
following : 

(i) Crown ethers 

(ii) Detergents 

(iii) Chromophore and auxochrome 

(c) Give equations to show the following 
reactions. Write the conditions and name the 
products : 

(i) Reimer — Tiemann reaction 

(ii) Benzoin condensation 

(iii) Wurtz reaction 

(iv) Friedel — Crafts acylation reaction 

(d) Discuss Curtius rearrangement and explain 
its mechanism. 

(e) (i) Give chemical test to distinguish the 
following : 

(1) An aldehyde and a ketone 

(2) Primary alcohol and secondary 
alcohol 

(ii) Give equations of Gabriel phthalimide 
synthesis. 

(f) (1) Explain Sandmeyer's reaction. 

(ii) Explain why pyridine is more basic 
than pyrrole. 
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(g) (i) Taking tartaric acid as example, 
explain the enantiomers and the 
meso-forms. 

(ii) Discuss Reformatsky reaction for 
preparation of P-hydroxy acids. 
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Trgiff tr#4.17 

*1141t, 2014 

tti 	4111 

: Gmeigch 	 

: 2 Vu2 	 3etwd77 31 : 50 

mit wm TR-4 	er-4 I 

() rii-iRiRgd -4 

fAR : 	 1x2 

(i) H2C = CHCH2COOH 

(ii) H3C — CH — CH2  — C — C2H5  

OH 	0 

OH 
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(w) PIHR-161 A 14 f-*711 7W fRzITS 	A 

3111TRPTrg 	d Ar-A-R : 

NH2  

(i) H 

  

OH 

  

    

CH3 

COOH 

(ii) HO 

  

CI 

  

    

H 

(Tr) Pii-ircifisid A 14 f*-ift krw 	E zri z 
3T511-4- 11 Ali Ar-A-R : 

HO N  ,Cl 
(i) C = C z x H2N 	CH3 

HOC = C CH Cl 
(ii) z 2 

H3CO' N  COOH 

(1;1) 3,4-31 -2-31Y4 	-k"c1-11 fAiR I 
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2. WI 4 Alf 	qfw *z-ffK tr-A-R : 	5x2.10 

(w) 40-dlq aTul StzkiT c q 	i r4H t fe 
A'rrA7 

(Tir) 	 3TRP-ITER 4 -111 
ki4t6   t I cente-H 	R 

(TT)1-11-1-c1P-I-A-1-4T aTir R4-44T3T T 	3f T Ne4ci 
aTir t Imo? 

(Et) 	f-on( afewzrr 	chkui trA-R 3tK -srrFr 
u-ol-r-41* RIR GMIW I 

(U) 4-414 tic.4:il)Pli) 3T1F 	tqfd 4 trit-4-44 
w(ar tPAR 

() 	al-N-Wrr 	*11--4R 

() 3-Na. 	61-1Ichk D-.‘WIEE 	TO-44 put 

Ufa At -a-cii*rr-A-R 

3. 	oRgo 4 	 iTrTrl* sirk 	5x3=15 

(*) 31-4ff Jcwul 	taV4 aTNTWrr*'r wt(9441 
R 

(7zr) teft-4 	Pitiflo (1,2,3-s444-TpTTF) 4 Pr* 
SIWR 	  

(Tr) 2-911444.1 	Km" 	Trri2/ aTriTrwzrr 
31TI:1 ttsei afiT 3T:t 3c4-1Iq fai-a‘ 118.  3-ezfra 

errt "PIM    	ZBAr 

	trr--AR I 
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(1:r) 	 urfrzr 	Il 6141 	? 
0411(9°41 *rr  

(;)   * 4-0 	tr-41 
oeiRgeft 	: 

(i) 	3T1:1 -iTT4 

(ii) 	(-415-licnkul ITT4 

(iii) alTzlYgtff 117 

() RTNT-*-4-et -ea-RI-FR al-5 1-WT3 * 5r1 -aT- FTO• 
to Trzm 	• -34 34SiWrrqffi 441 

of 	? 0e41i9441 

() 	 Pc.-R wss4 alfW T-21-14 311T 	 

IT 	cni.-944-1 	 34 31-14fki- 
owsn trrAR 

4. PHrortgcr 	-r-*7--ef 	31-Fil*Z—ffT tr-A-R : 5x4=20 

() 1km 	: 

(i) chl 	1.i l'UTT 	IIItspi 	3ff-4- 7 (-iksen 
	 AK-11# 

(ii) Wr31T-g 	afR 	 

d'oldt 	 *ft-414 
	 # 

(iv) t.Tr.T 	T zErzOr 	 
Pneir 	 # I 
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iii-ifCiRsid 47e- 	TIT oen941R-444) 
kuikeir 	: 
(i) 9b13 	-1 i21T 

(ii) aitirrIU 

(iii) aufiTe 3* qui-41k 

(TO PHIC-ago 	aTri4zrtall 	74P ciK,  w414-Kul 
tf-A-R 7We-de fArg at1T 	TIT 

WM-47 : 

(i) (I*1-1( — 

(ii) 44-F .it.1-1.1 

(iii) #(:r afewzrr 
(iv) taF — 9n1V4 	ctKul 3lf4WIT 

(v) -1=J-zR:r 	 W-A-R 311-{ 
-Wrf-4R-T 	oeil(sql t-r-4R 

() (i) PHICIR0 3 mta am! 	tit el 
trftuuT tr-AR : 
(1) 'f-c:'s146 3T *ra 

(2) mizam 't..-chleci 3 td1-4.-  
c•-ct.) 

(ii) 	4ffelTrg *METE  	chvi 
tr77 

(q) (i) 	-V-1141k 	 otut9tu 117R 
(ii) oeimen 411-4R 	-Pcrittri fERi 	aTrw 

gift 	1({1.4 
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(o) (i) Trtft-  	t4Praftgrd 
	ttr7R I 

(ii) 13-Miet41 31111 	61•114 	TC1 

R,t)kk41 alfewzrr 1,41W-A7 
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